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86 x 90% =

93 x90% =

80 x 90% =

61 < 60% =

69 x 30% =

69 x 80% =

94 x 80% =

71 < 40% =

72 X 60% =

55 x20% =

10 x 60% =

94 %< 10% =

43 x 80% =

80 x 60% =

65 %< 40% =

72 x20% =

92 x 60% =

31 x 80% =

82 x 40% =

38 x 60% =
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86 X 90% = 77.4

93 X 90% = 83.7

80 x 90% = 72

61 x 60% = 36.6

69 x 30% = 20.7

69 x 80% = 55.2

94 x 80% = 75.2

71 x 40% = 28.4

72 x 60% = 43.2

55 x20% =11
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10 X 60% = 6

94 x 10% = 9.4

43 x 80% = 34.4

80 x 60% = 48

65 x 40% = 26

72 x20% = 14.4

92 x 60% = 55.2

31 x 80% = 24.8

82 x 40% = 32.8

38 x 60% = 22.8
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